
Pensieve Header: Computing $\Delta(e^x)$ in PSS.

I n [ ] : = x_y_,z_[f_] := Simplify
(f /. x  y) - (f /. x  z)

y - z
;

Δx_y_,z_[f_] := Simplify[f /. x  y + z];

mx_,y_z_[f_] := Simplify[f /. {x  z, y  z}];

σx_y_[f_] := Simplify[f /. x  y]

I n [ ] : = 
x1 // x1x1,x2

Ou t [ ] =

x1 - x2

x1 - x2

I n [ ] : = 
x1 // x1x1,x2 // x2x2,x3

Ou t [ ] =

x1-x2

x1-x2
+

-x1+x3

x1-x3

x2 - x3

I n [ ] : = 
x1 // x1x1,x2 // x2x2,x3 // Δx1y1,z1

Ou t [ ] =

-x2+y1+z1

-x2+y1+z1
+

x3-y1+z1

-x3+y1+z1

x2 - x3

I n [ ] : = 
x1 // x1x1,x2 // x2x2,x3 // Δx1y1,z1 // Δx2y2,z2 // Δx3y3,z3

Ou t [ ] =

y1+z1-y2+z2

y1-y2+z1-z2
+

-y1+z1+y3+z3

y1-y3+z1-z3

y2 - y3 + z2 - z3

I n [ ] : = 
x1 // x1x1,x2 // x2x2,x3 // Δx1y1,z1 // Δx2y2,z2 // Δx3y3,z3 // my1,y2y1

Ou t [ ] =

y1 (z1-z2)

z1-z2
+

-y1+z1+y3+z3

y1-y3+z1-z3

y1 - y3 + z2 - z3

I n [ ] : = 
x1 // x1x1,x2 // x2x2,x3 // Δx1y1,z1 // Δx2y2,z2 // Δx3y3,z3 // my1,y2y1 // σy3y2

Ou t [ ] =

y1 (z1-z2)

z1-z2
+

-y1+z1+y2+z3

y1-y2+z1-z3

y1 - y2 + z2 - z3

I n [ ] : = 
x1 // x1x1,x2 // x2x2,x3 // Δx1y1,z1 // Δx2y2,z2 // Δx3y3,z3 // my1,y2y1 // σy3y2 // mz2,z3z2

Ou t [ ] =

y1 (z1-z2)

z1-z2
+

-y1+z1+y2+z2

y1-y2+z1-z2

y1 - y2
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I n [ ] : = Simplify


x1 // x1x1,x2 // x2x2,x3 // Δx1y1,z1 // Δx2y2,z2 // Δx3y3,z3 // my1,y2y1 // σy3y2 // mz2,z3z2

(y1 - y2)

Ou t [ ] =

y1 (z1 - z2)

z1 - z2
+

-y1+z1 + y2+z2

y1 - y2 + z1 - z2

I n [ ] : = res = LimitSimplify


x1 // x1x1,x2 // x2x2,x3 // Δx1y1,z1 // Δx2y2,z2 // Δx3y3,z3 // my1,y2y1 // σy3y2 // mz2,z3z2

(y1 - y2),

y2  z1 + y1 - z2

Ou t [ ] =

y1 (z1 - z2 - z1 z1 + z1 z2)

z1 - z2

Compare with the results in PhiInPSS.pdf:

 /. {x1  y1, x1  y2, x2  z1, x2  z2}

I n [ ] : = Simplifyres  
y1+z1


z2-z1 - 1

z2 - z1
- 1 

Ou t [ ] =

True
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